AR({,v)bin  Bestfit  Stat Syst MG5.aMC+PY8  MATRIX

Ao /A(AR(Z,v))(fb)
0.7,1] so7ta  tii TR 931 + 76 903 + 70
[1,1.3] 935ty i % 939 + 85 921 +71
[1.3,1.6] 1042428 8 2 1052 £ 96 1023 £ 72
[1.6,1.9] 1187t83 5 82 1230+£110 1211470
[1.9,2.2] 1448%73 22t 14504120 1431 + 61
2.2,2.5] 1645ty 1t 5 1690 + 140 1664 + 62
[2.5,2.8] 1689157 5 85 1840140 1789472
2.8,3.1] 1649t7 o o3 1810140 1802 + 85
3.1,3.4] 11042 7 18 1217 91 1191 £ 62
3.4,3.7] 500735 o 139 540 + 39 564 + 32
[3.7,4] 289t% 7 T 284 422 295 + 19
[4,4.5] 136.0757 39 t85 110.1+86 128 +11
[4.5,5] 356735 133 133 29.3+2.7 38.6 £4.5
1/0Ac/A(AR(L,v)) x 10°
0.7,1] 238.3707 32 23 235 + 19 230 + 18
[1,1.3] 2457770 59 fey 237421 235 + 18
[1.3,1.6] 2737184 i Ted 265 + 24 261 + 18
[1.6,1.9] 3117182 25 173 311 +27 309 + 18
[1.9,2.2] 380.219% 27 *7d 365 + 31 365 + 16
[2.2,2.5] 4322791 22 7S 427 + 35 424 +16
2.5,2.8] 436153 0 TS 463436 456 + 18
2.8,3.1] 433.079% 37 *8e 457 + 36 459 + 22
3.1,3.4] 2901157 t36 480 307 + 23 304 + 16
3.4,3.7] 1337152 53 33 1361+98  1439+8.1
3.7,4] 759135t 158 715455 752 4+4.9
[4,4.5] 357118 10 g 27.8+22 32.6 +£2.7
[4.5,5] 94111 06 402 740+£0.68 9.8 +1.1




